Suy=E
E= ¥z
A i A IL
3 EZ2 YT . T Ho|A
EH 23330.
ME MdY
olSol HolMTt 42 S Al Sol3 MEo| £2 SYTE FHLIs 80 Mol JHsE
=
34 B MU0 S, 8, FE 7HE, 180T, HIAE, X7 S| Hojo| E2 YT} MY
4 QlOM, x| E BatAE] B Ao HE, S2, HEt FE U x|20f AFSE £ QT
EZZYno|"E 3" Haols SYLo| 31 WE JHYS S8 HIULE ¥ FL JHBES
7Hd glo| BHES| RIAHE & QI 2 53 M WAl M2 £ EHo2 T Ao ST 2 w3
84 QTS Bich BYTE XHNoR T HEIE RXISHE 7I50] U7 HE0| £E IHBAl Y
A3t 2ol CHah = 4 9l
EZ 3YUDE 52 BHO REOR MHEUOH, XIHHQIAB0| M TS MHE,
2ol LiAO| i QIxIZ2xIQI 27K R E | #E, 1220| FAEUCH REBR EHES x|
T 2l0{M AHS Holdol £8.
A& Z- 7S 8 2T A3 5 E 2lEloluol ols RIS
M o e e
S™z ax
- A oted £3 X2, R SEfE _ )
. AEQIE|A AE Y A3 Fo| B = 222 ol AAM|A 2
SEolM M 7Hs.
2|4
. AB[olE|A AE
. AE
30|
. Eotag
2Y" A37
- AEL E2F ofod =2 X2
. ABIOlEA AE)
ECER]
- R, AW
a2
23330.0003
23330.0001 23330.0002 23330.0503
L7
~ i ~t— di
! l? —— ~
& / / & d4 o
el
- : /\
I P m m m
/ - / o ¥a o
© / ’ 7
! ”
= i) - i le lg i
Fa oY ’/ lg
|~
i J & 4 23330.0004
= Iy [ R\ L 23330.0504
— 23330.0005
. s | % 23330,0505 23330.0006 23330.0007
'5 7 ly dy 7 as
L '2 <L & s )
h 1
W/ @
m
o 4 al &
Fan ] .63 M
U L) m
~ P E3‘
lg
lg lg
Ho|X| 1~2] 4

NHALDER

7HAl: 13.10.2023



2Yg RE
E= ¥z
2 Ee
gt | S R XX |« I
x$ | AR
di by by by |bg| hy | hy hy hy | hy [ L | L| I | 1 Islg| Iy I Iy F, F; 2| |3
EESE|u] 2o
[mm] [mm] [kN] [°C]
=
1 M4x 25 45 32 4 230 | -| 81,0180 8 -1,5 35 49 50 310 551422 55 . . - 0507 95 -1080 66 23330.0001
2 |M5x 30 45| 34/ 5225-26,0 - 98,5/19,0/10(-4,0| 2,0 61 59 39,0 6,0|18/27| 55 16,0 - 06]1,1] 95° [-10/80| 114|23330.0002
3 |M6x 35 55| 43 623,0-31,027/129,023,0/12 -3,0) 4,5/ 78/ 80| 52,0 11,0/25/32| 6,0/ 20,0 12,5 |0,8]1,2(105°"|-10/ 80 192/23330.0003
4 |M8x 45 75| 46/ 8| 325 | -|186,033,0(18| 2,0/11,0/112112 79,0 19,0/37|35/ 7,5 20,0 - 1,2/2,5[105°"|-10/80| 41023330.0004
5 |M 8x 65 86| 641043,5-465 - |221,042,520 -6,022,5141/130/101,0 16,0/ 54|53/ 13,0/ 32,0 - 1,7/3,0[{105°"|-10/80| 687|23330.0005
6 |M12x 80 8,5 70/ 1445,0-50,045/281,0 55825 -3,027,5/195/185/140,0 34,0/ 73|65 9,5/ 450 [26,5-31,53,0/5,0 115°"|-10|80(149223330.0006
7 |[M12x 110 13,0{100 1437,5 - 72,5 - |333,0 81,0/ 30| -2,5| 55,0 231|206| 165,5/ 28,0/ 89| 90| 24,5/ 50,5 - |34/55[140°"|-10/80|200023330.0007
AE|IE|A AE
3 |M6x 35 55| 43 623,0-31,027/129,023,0/12 -3,0) 4,5/ 78/ 80| 52,0 11,0/25/32| 6,0/ 20,0 12,5 |0,8]1,2(105°"|-10/ 80| 195/23330.0503
4 |M8x 45 75 46 8| 325 |-|186,033,0/18 2,0 11,0112112 79,0/19,0/3735 7,5 20,0 - 1,2/2,5[105°"|-10/80| 43023330.0504
5 |M 8x 65 86| 64 1043,5-46,5 - 221,042,520 -6,0| 22,5/ 141/130{101,0, 16,0/ 54| 53| 13,0 32,0 - 1,7/3,0{105°"|-10/80| 697|23330.0505
VAR Eg g3 ¥Eo AT E 60°2 HAY £ e
EEHALDER HO|X| 2 ~2| 4

7HAl: 13.10.2023


http://halder.com/kr/23330.0001
http://halder.com/kr/23330.0002
http://halder.com/kr/23330.0003
http://halder.com/kr/23330.0004
http://halder.com/kr/23330.0005
http://halder.com/kr/23330.0006
http://halder.com/kr/23330.0007
http://halder.com/kr/23330.0503
http://halder.com/kr/23330.0504
http://halder.com/kr/23330.0505

2L 2E
E= ¥z
M A2
EN i
d;
[mm] [a]
EHE LIHEZ 3= ofH| £8), 28!
M4x 25 6,2 23330.9001
M 5x 30 11,0 23330.9002
M6x 35 16,0 23330.9003
M 8x 45 38,0 23330.9005
M 8x 65 57,0 23330.9006
M12x 80 147,0 23330.9007
M12 x 110 170,0 23330.9008
EHE LIHEZ ™= ofH| £8), A=A AR
M6x 35 16,0 23330.9503
M 8x 45 38,0 23330.9504
M 8x 65 57,0 23330.9505
WHALDER Holxl s ~ele

7HAl: 13.10.2023


http://halder.com/kr/23330.9001
http://halder.com/kr/23330.9002
http://halder.com/kr/23330.9003
http://halder.com/kr/23330.9005
http://halder.com/kr/23330.9006
http://halder.com/kr/23330.9007
http://halder.com/kr/23330.9008
http://halder.com/kr/23330.9503
http://halder.com/kr/23330.9504
http://halder.com/kr/23330.9505

i} _u__
I+ 0
o M
0 i
il uH

HE of

<+
Kl

R0

HO|X| 4 ~2| 4
7HAl: 13.10.2023

NHALDER



